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Computer Basics



Verification of login name and password is known as
A. Alienation
vBﬁuthentication
C. Configuration
D. Logging in



Which of the following is not a computer programming
lan-guage?

A. ALGOL .
VB/hﬂlcrosoft
C. COBOL
D. C++



Unwanted repetitious messages such as bulk mails is
kKnown as

A. Calibri
B. Post
C. Thrash

\)ﬁpam



URL is a reference to a resource on the internet, URL

stands for

A. Universal Resource List
Resource

B. Uniform

\/FDB./Uniform
. Uniform

Resource

Resource

_ocator

_ocator



Which programming languages are classified as low level
languages”?

A. C++ — KL
B.Algol = KL~ M rarner >

\/&ﬁssembly Language —— Machine lavguege
D. COBOL = Wt )



In VLSI integrated circuit VLSI stands for
A. Very Low Security Information

B. Very Low Scale Integration

C. Very Largely Secured Information

\,D./</ery _arge Scale Integration




i

In a MS Word document, Landscape is
. page orientation

B. paper size

C. a Font style

D. page layout




A wireless network uses waves to transmit signals.
A. Electro-magnetic
B. Electrical

€~ Radio

D. Magnetic



Which of the following is not a network topology?
A. Tree .

B. Star .

C. Bus.



Which of the following is correct statement?
A. 1MB= 100 KB

_B/1KB= 1024 bytes

C. 1MB= 2048 bytes
D. 1GB= 1024 KB




Secure code/verified by VISA is associated in which of
the following transactions?

“E-commerce
B. NEFT

C. Cash deposit
D. Funds transfer



The term Internet backbone refers to
A. Software that operates a Web server

. The main pathway of high-speed communications
lines through which all Internet traffic flows

C. A broadband Internet connection
D. A set of numbers comprising an Internet address



MICR denotes

A. Magnetic
B. Magnetic

\/C./N/Iag netic

N
n
n

MICR technology is mainly used by banking industry.

K Computer Reading
K Code Recognition

K Character Recognition

D. Management Ink Check Reading



Which files have .mpg extension?
A. Spread sheet
B. Text

e’ Video

D. Web



¢
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A computer network tool used to detect hosts or to test
the reachabillity of a host on

A. Try
\/Bﬁ:’ing

C. Check

D. View



A. Wor
\/B./Wor

C. Wor

D. Wor
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What is full form of W3C?

d Wide Web Centre

d Wide Web Consortium
d Wide Web Company
d Wide Web Command



Numbers are stored and transmitted inside a computer In
A. CISC form
B. Alpha-numeric form

\/C/Binary form

D. ASCII code



Mathematical calculations and comparison decisions are
performed by the of the CPU.

A. Numerical calculator
B. Central calculation unit
C. Control unit




To move to the bottom of a MS
Word document, press

A. Auto summarize

B. Home

C. Home key



In MS Word shortcut key, Ctrl + Z will
A. Opens the prints window
B. Redo the last action performed
C. Cut selected text
- Undo last action



Which of the following is the smallest data size?
A. Terabyte -

B. Gigabyte

€ Kilobyte -

D. Megabyte -



DNS in internet is abbreviation of
A. Dynamic Network Service
B. Dynamic Name Service

C. Domain Network Service
\/D(Domain Name System
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All the formulas in
A. A

C.*

D. %

Excel start with



When any of the files or folders are deleted from Hard
Disk, Windows

A. Places it in snipping tools

B. Places it in sticky notes

y/(%:’ aces it in recycle bin

D. Deletes it permanently




What is the purpose of keeping electronic devices such
as computers, televisions and remote controlled devices
on sleep mode?

A. For Back up

B. To improve download speed
C. To write contents of RAM to hard disk

\/E{ Reduce power consumption



A file which contains readymade layouts, theme effects,

background styles and even contents for presentation is
called

A. Pre formatting
B. Wizard
C. Auto style



Which among the following does not belong to the
group?

A. Spyware MIRTE
G
C. Worm

D. Virus



displays the hierarchical structure of files, folders

N

and drives on the computer and any network drives
mapped to the computer.

. Windows explorer
B. Google chrome
C. Firefox

D. Folder manager




The part of operating system that manages the essential
peripherals such as

. Basic Input/Output System
B. Secondary system
C. Peripheral system
D. Marginal system



Which of the following is not a web browser?
A. Mozilla
B. Opera

C. Firefox
\/Désio



\lvyh of the following is not a binary number?
7123111

B. 100101
C. 100000
D. 101010




Tov qutH-m- ad .

@ é’re)(' v nes.
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A computer translates a program written in a h@ %vgl [
language into

A. An algorithm S Pow oy wshuehony fo b2

B. Application language WM wolide  creaking
\%Machine language A progrem
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LINUX is

A. A firewall software

B. A proprietary operating system of Google
C. An inventory management software

\)2{% open source operating system



Chip is common nickname for a (n)
A. Structures

B. Semi-conductor ¥

C. Resister'r

\,Df’ Transistor



In word processing, an efficient way to move the 3rd
paragraph to place it after the 5th paragraph is

A. Delete and paste
_B7 Cut and paste

C. Copy and paste

D. Delete and retype



The printing measure DP| means

A. Dots processing inch

yots processing incitation
. Dots perinch

D. Diagram processing information



A stored link to a webpage, in order to have a quick
access to it later, is called

A. WP-link

ysistant
. Bookmark

D. Joystick



Which among the following is not a computer
programming language?

A. PEARL
B.4GL
C. COBOL

“Visual Basic



—

When you first turn on a computer, the CPU is preset to
execute instructions stored in

A. RAM

\/Z;ash memory
ROM

D. CD-ROM
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Which of the following is a function of the control unit?
A. Read instructions

B. Interpret instructions

Direct operations

\/D/AII of the above




What are .bas,.doc, htm examples of in computing?
\}/Extensions

B. Protocols

C. Databases

D. Other than those given as options



/

Documents converted toAcan be published to the web.
A. a doc file
B. http

\/(Ia)}ther than those given as options
. HTML




What kind of software would you most likely use to keep
track of a billing account?

A. Web authoring
B. electronic publishing

VC./Spreadsheet

D. word processing




A computer virus normally attaches itself to another
computer program known as a

A host program
B. target program
C. backdoor program
D. Bluetooth
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When a file contains instructions that can be carried out
by the computer. It is often called a(n) file.

A. Other than those given as options
B. information
C. application

. executable




Data duplication wastes the space, but also promotes a
more serious problem called

A. Isolated data
\/B/ Data inconsistency
C. Other than those given as options (KWWE)
D. Program dependency



The main directory of a disk is called the directory.
A. network
B. folder

\/%/oot

D. Other than those given as options



Which of the following is not an example of application
soft-ware?

A. Word processing software
B. Spreadsheet software
\/%);:)erating system software

D. Database software



\/AVﬂ'u'ch of the following is not true about RAM?

OO W

. RAM is the same as hard disk storage

. RAM is a temporary storage area
. RAM is volatile

. RAM is a primary memory



8

7 N
' _ gym (BL- 85)
= Sum {81}} Is an example
A. function=—<> PYMUG\”“ML  Rverage

B. cell address




.
® o
@
kY

Decreasing the amount of space required to store data
and programs is accomplished by

A. Crashing
B. Disk caching
C. RAID

\p./file compression



What is the difference between a CD-ROM and CD-RW?

A. They are the same - just two different terms used by
different manufacturers y

B. A CD-Rom can be written to and a CD-RW cannot

C. Qther than those given as options
. A CD-RW can be written to but a CD-ROM can only be

read from



Computer program are written in a high-level
programming language, however, the human readable

version of a program is called
A. Cache
B. instruction set

x% source code

D. Word size



The clock rate of a processor is measured Iin
A. megabytes or gigabytes
B. milliseconds

\/(f./megahertz or gigahertz

——
D. nanoseconds



When cutting and pasting, the item cut is temporarily
stored in the

A. dashboard
B. ROM
C. hard drive

\ P~ Clipboard



Which of the following is the correct order of the four
major functions of a computer?

A. Input, Output, Process, Storage
B. Storage, Output, Process, Input
C. Process, Output, Storage, Input
\,D./Tr)put, Process, Output, Storage



What does LS| stand for?

\/\./_arge Scale Integration

=3
C.
D.

_arge Scale Integrity
_ow Scale Integration

_arger Scale Interior



System component called is a multipurpose,
programmable device that accepts digital data as input,
processes it according to instructions stored in its

memory, and provides results as output.
\/#(I\Ticroprocessor

B. Control unit
C. Floppy disk
D. ROM



What does WAN stand for?

A. Width Area Network

B. Wynk Area Network
“Wide Area Network

D. Wireless Area Network



ISDN stands for

A. Integral Service Dynamic Network

B. International Subscriber Dialup Network
C. International Service Digital Network
Integrated Service Digital Network




Which of the following is not a binary number?
A. 10001

B. 10101

A 12111

D. 10011




Proper removal of program from computer memory
requires

A. Installation =y
. Uninstallation
C. Removal x

D. Booting —, \V“VOW oy Stonking 2 WW




Which of the following software is used in computer?
A. Scanner:
B. Mouse .

. MS Office 2007

D. Keyboard -



means to browse or move from website to website
randomly.

A. Trolling
B. Moving
C. Looking



Which of the following is not a secondary storage
device?

A. Hard disc .
B. CD-
C.DVD-

\Bﬁ?AM



Which of the following is not an output device?

X Scanner UW)
B. Printer —- /3 ok

C. Flat screen —>

D. Touch screen C,W / o
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Verification process of confirming identity for allowing
access to a computer system is called

A. Authorization
B. Spooling

\(Authentication

D. Login
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Which of the following is not a programming language?
A. C#

B. ALGOL
. Microsoft

D. COBOL



What does the term GUI stand
A. Graphical User Input
\/B./Grapqica User Interface

C. Graphical Utility Interface
D. Graphics User Interface




/> P\X%EYL{

The browseris  keeps a list of web pages you have
visited during the current session.

. History
B. Cache —> (OOKe = Legin «Q_f%“
C. Favorites properences.
D. Trail



Network security system that monitors and controls the
Incoming and outgoing network traffic based on applied
security rules is called

A. Firmware
. B Firewall
C. Shareware
D. Instruction set



Which of the following is a computer hardware?

\M/Iouse

B. Interpreter == compuder &[w den o=V
C. Windows 7 =05
D. Compiler =
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Trackball, mouse, joystick are examples of used in
computer system.

” Pointing device
B. Storing device
C. Data collection device
D. Multimedia device



Which of the following terms refer to the process of
removing a file from a compressed archive?

A. Decompressing
\/B./Extracting

C. Archiving

D. Bundling

» Zl? /) nar
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Converting the computer language of 1's and O’s to
characters that a person can understand is called

“Decoding
B. Selecting
C. Generating
D. Creating clip art
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Storage that retains its data after the power is turned off
IS referred to as

A. \olatile storage

”Non-volatile storage
C. Sequential storage
D. Direct storage
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Windows explorer is the name of _ in computing.
. File manager

B. Web browser

C. Taskbar

D. Drive



C++is a
A. L.ow level language
\/BﬁL-Iigh level language
C. Mid level language
D. High Level Language with some low level features



Changing to newer usually more powerful or
sophisticated versions of hardware components is
termed as

A. Expansion

V?./E;Iug and play
. Upgrading
D. Upsizing
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When any files are deleted from computer hard disk,
Microsoft Windows places it in

\ﬁ\/l{ecycle Bin
B. Directory
C. Root command
D. Control Panel
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\/Aw\at does VoIP stand for?
. Voice over |IP
B. Video over IP

C. Viruses over IP
D. Virtual over |IP



What does RAM stand for?
A. Read Accessed and Maintain
B. Readable Access Memory

¥/IC{Random Active Memory
. Random Access Memory
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Specialized program that assist users in locating
information on the web are called

A. Information engines
B. Spollers

C. Web browsers
. Search engines
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Which of the following is used for manufacturing
computer chips?

A. Control bus

. Semiconductor
C. Control unit
D. Parity unit



What does USB stand for?

A. United Serial Bus

B. Universa
\/CDJ)Jniversa
. Universa

Serial By-Pass
System Bus
Serial Bus



The most significant system software program in a
computer system is

A. Ipterpreter
\/B./(;)]perating system

C.ALU

D. Compiler



Safari, Google Chrome, Internet explorer, etc are known

B. Extension
C. Protocol
D. Domain



amt Ugy-wae o
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Y
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The von Neumann architecture is based on: QP
A. Separate storage for data and instructions

\/B./A single bus for data and instructions

C. Analog computation

D. Pipelined execution




Which of the following is NOT a part of the CPU?
A. ALU

B. CU
2’ GPU

D. Registers



Which is a key feature of RISC architecture?
a) Complex, multi-cycle instructions/
b) Large instruction set
Fixed-length instructions
d) Microprogrammed control unit 4



Which of these is a RISC processor?
a) Intel x86

WARM

c) AMD Ryzen
d) IBM zSeries



Which is an advantage of CISC over RISC?
\/d{ Faster clock speeds
b) Simpler compiler design
c) Single-cycle execution
d) Compact code size

.
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The "load-store" architecture is associated with:



What is the logical address of a Webpage?
A. Extension
B. Protocol

C. Directory
. URL



Which one of the following should not considered as a
form of secondary storage?

A. floppy disk
B. optical disk
C. hard disk



Which protocol is used to assign |P addresses
dynamically to devices on a network?

a) DNS = veL> Ip-
b) HTTP = hbwd 'l access. armle

\/ej/DHCP > Pyraic on Cofigurebio botpiet = gliocation

) FTP < oy TP holdrey
e Mp&nad omd  phowm loud %Lw{xm coven pe——
ol . STRTIC TP
838352 : Acderesicy,
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What does the term "MAC address" refer to?

\/zﬂ\/ unique identifier for network interfaces
b) A security encryption standard
c) A type of IP address
d) A cloud storage protocol



What is the function of the DNS (Domain Name System)?

v?/Encrypt data transmissions

) Translate domain names to |IP addresses
c) Block malicious websites
d) Manage network bandwidth



Which protocol provides secure, encrypted
communication over a network?

A.HTTP

B.FTP 7 s
"WTTPS > SeL[TLE

Ay \!
e D. SMTP oy Tronpert
sk T
Sesls- PR
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